Phase transitions: Part 4

Spatial correlations: Important physical quantity in science, especially phase transitions are spatial covelations. This means if something is true at place By how likely sit to be true at place ft ?. This was like gcr), how much more likely are we to find a particle then any a given distance away from something We also measured this as (p(r) p(r')> (or (Spu) Souri)) In a lattice model, we conpute the following related quantity $C_{ij} = \langle (S_i - \langle S_i \rangle) (S_j - \langle S_j \rangle) \rangle = \langle S_i \rangle \langle S_j \rangle - \langle S_i \rangle \langle S_j \rangle$ called the spin-spin carrelation function

(Joes to zero when (s; s;) ~> < s; >(s;), which happens when unconcluted, eg [j-il >> c, sometimes normalize $C_{ij}, \quad \widetilde{C}_{ij} = \underbrace{(S_i, S_j) - (S_i, 7(S_j))}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_j) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_j) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_j) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_j) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_j) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_j) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_j) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_j) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_j) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_j) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_j) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_j) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2} = \underbrace{(S_i, S_i, \gamma^2) - (S_i, \gamma^2)}_{\langle S_i, \rangle - \langle S_i, \rangle^2$ Cij _____ - r/& Length sule of Cémelahans So volome 4ª comela fecl FI spins carrelited w/ spin1, eg = Z Cij (could have chosen any spin) d=z This is connected to the suceptibility $\chi = \frac{1}{N} \langle (SMJ^2) \rangle \text{ where } SM = \overline{Z}(S; -\langle S; \rangle)$ $= \frac{1}{N} \sum_{i,j} \langle S; S_j \rangle - \langle S; \rangle \langle S_j \rangle$ $= \frac{N}{N} \cdot \frac{Z}{S} \langle S, S; \rangle - \langle S; \rangle \langle S; \rangle = \sum_{j} C_{ij}$

But we already sow that X diverges e a pluse transition, so this is a Signature of Earg range correlations" Zways this can diverge 1)2 phase Coexistere

Lig Lig UNE vader droge let P(P) L as these get men sharp w) incrusing N, Verinne gets maximiled

Near critical point, no distriction between two phases, so the divergence becames large mens came lations becare long range

Usually $G(r_y) = C_{ij} \vee \frac{C_{ij}}{r^{d-2} + 2}$ and as critical point is approached $\xi \sim |T - T_c|^{-\gamma}$ The fact that this length scale gets big means the system looks the same on small & large length scales, which leads to the renormalization group iden. Penormalization Georg "Coarse grain" over section of system try to have partition function look the same 69 1:5-1-11715

lzerofield cg fl= ∑JS;S, → ŽJS;Sjr <ij> <i,j> Then Then you ar repeat this procedure & dente If J-> 5' process converges, then this is at a fixed point " and it corresponds to a pluse transition. From the equations that generate J=J, we can get the critical exponents to! We'll'illustrate in 12 is ins model (ho spontaneous may transition) & discuss the result in Zd [lot different possible pocudares] $\begin{array}{l} \textcircledleftelling \subleftelling \subleftelling \subleftelling \subleftelling \subleftelling \mskip.5ex \leftelling \mskip.5ex \end{tabular} \leftelling \mskip.5ex \end{tabular} \leftelling \mskip.5ex \end{tabular} \begin{tabular}{c} & (k = p \end{tabular} \end{tabular} \end{tabular} \begin{tabular}{c} & (k = p \end{tabular} \end{tabular} \end{tabular} \end{tabular} \end{tabular} \begin{tabular}{c} & (k = p \end{tabular} \end{tabular} \end{tabular} \end{tabular} \begin{tabular}{c} & (k = p \end{tabular} \en$ In mean field, averaged over all other

degrees of freedom but 1. Hure, remore finite degrees of Preden. Egi Sumaus even spins 1 2 3 4 5 6 7 1 3 5 $Q(k, \lambda) = \sum \left(e_{k} \rho \left[k(s_{1} + s_{3}) \right] + e_{k} \rho \left[-k(s_{1} + s_{3}) \right] \right)$ $\times \left(e_{k} \rho \left[k(s_{3} + s_{7}) \right] + e_{k} \rho \left[-k(s_{3} + s_{3}) \right] \right)$ wont to express in same as orignal fina, If prssible, but a/ new K. (new inverse temperature, or J) Would be tare if e (sts') - * (sts') k'ss' te = f(k)e far all 55' then $\Theta(k,N) = f(k)^{N/2} \Theta(k',N/2)$ [leadenoff fronsformation]

finding this is possible in Id [in higherd, have to approximate] If S, S' in same direction $2^{k} - 2^{k} = f(k) e^{k}$ \bigcirc lf apposite 2 = f(K) =^K => f(k) = 2e^{k'} (2) (con solve for K'& A(K) $(\overline{2}) \rightarrow (\overline{1}) \quad 2e^{zk'} = e^{+e}$ \Rightarrow $k' = \frac{1}{2} (og (cosh(2k))$ plugging back in to Z $f(k) = 2 \cosh^{1/2}(2k)$ Consider InQ (a sort of free Chersy) expect to grow a N. define g(k) = that [intensive free energy] $q(k) = \frac{1}{N} \cdot \left[\frac{N}{2} \ln f(k) + \ln \theta(k', N/2) \right]$ N/z g(k')

⇒) recursion:

$$g((c') = 2g(k) - ln f(k)$$

 $= 2g(k) - ln (2) cosh(2k))$
If we know $Q(k)$ for 1 value of
 k , we can find it for other value.
In this renormalization, k' is always less than k
 $(c. Slh cosh(2k) = k' < k]$
Alternatively, sump $k < k'$
 $k = 1/2 cosh^{-1}(ekp(2k))$
& solve for $g(k)$
 $g(k) = \frac{1}{2}g(k') + \frac{1}{2}ln2 + \frac{1}{2}ln (kosh(cosh^{-1}(exp(2k'))))$
 $= \frac{1}{2}g(k') + \frac{1}{2}ln2 + \frac{1}{2}ln (kosh(cosh^{-1}(exp(2k'))))$
 $= \frac{1}{2}g(k') + \frac{1}{2}ln2 + \frac{1}{2}ln (kosh(cosh^{-1}(exp(2k')))))$
 $= \frac{1}{2}g(k') + \frac{1}{2}ln2 + \frac{$

lalpriterating & & keeps growing during the iberation, gla gets closer & closer to the exact glici for that value of 1c Lin 1d, can compute exactly For no field & large N, med seen $Q(B_1N) = (2\cosh(B^3))^N$ $= [e^{k} + e^{k}]^{N}$ $\ln (e^{k} + e^{-k}) = [k + \ln (1 + e^{-2k})]$ tor large k, gilli ~k con start w/ eg g(10) x10 & iterate alter equations to get Smuller k results Errors apperently grand in this preadure, but the produce is $\begin{array}{cccc} \chi & - \gamma & + - \varphi \\ k = 0 & & & k = - \varphi \end{array}$ per or malization K=か K· flow トー

for k=0 or k=10, paraous don't change "fixed point"

In 2d

 $x \leftarrow \leftarrow \leftarrow \chi \rightarrow \neg \neg \neg \neg \gamma$ ke K20 $k = 0^{\circ}$ Unstable fixed point gt KCZU. SOGGE (for a similar produce See cherdler Ch 5) where exact usine J/kgTc = kc = 0.440F4 See look pg 261 that shows IT iderations reeded as get closes & closer to ke grows, connecting to a growing length scale as To approached